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Fo)hE %A_T_ %B?r %C:T- QA?r QB:T- Qc?r ozt
1| KBEK 2 1 1 1 5
2{BENEIY Y 2R—YDED 4 2 2 2 1 11
3|Team RISE 1 2 1 4
ZAWARY /NS R 1 y
5|m+FJBC 3 3
B|AFHR/INEFIY Y ARN—YDEH 1 3 4 5 4 17
T\ BBBRLA DY =7 1 1 2
8|=MY v IR 1 5 4 5 1 16
SlEv+—X 1 1 2 6 1 11
10|AR/NVE—/ 1 1
11|/\EFFY2=7 1 1
12| AMN—Y/DEH 1 1
13|RIE1—=TILR 2 3 1 6
14|48 "7 2 1 3
15|GPWY 17 2 4 2 2 3 3 16
16|ILEARFMY =7 1 5 1 3 10
17| RBEP RNV R 1 2 1 3 1 8
18|FEEPRIY =P 2 6 5 4 8 2 27
19|B&JSC 1 1
20|BEYAZPNRIVYRYDST 3 2 1 6
21 |REVENGE 2 1 2 1 6
22|MHRYAZPNRZIRYDST 6 3 9
23| KH/NFRED v 1 1 1 2 5
24| 38Y 127 1 1 1 3
25|88y 127 1 3 2 6
26|\ ENFIYRYDOST 1 1
27| CFPRYazZ>P 1 1
28|G-egg club 1 1
29| HE B RMN—Y D EE 3 2 4 4 1 14
30|KED1F—X 1 1 1 3
31 [KREEIJBC 1 1 2
S2|FAMBINNEZV HUED 1 3 2 9 1 16
33|BRIVELILR 1 1 2
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69|EHANUA—ILZ 1 1
TO|¥ v RILI\Y 1 1
71| BEEVNRIY R YBRE 1 1
72| TS5A RYa=ZP 2 1 1 1 1 2 8
T3|MPAREY2ZP 1 5 1 3 3 2 15
T4|B3RBC 3 1 3 2 9
75|5/HY =7 3 2 2 2 3 12
76| BB/ N RS~y UR— Y IDES 1 1 2
77| Z&EHJIBC 1 1 2
78|70 L2 1 1 1 1 4
TO|EE STV 2 2
80| AXFIHY A= P/INRIV Y 1 1
81|XRY2=P 1 1 1 3
82|=%V5—1Jr. 1 1 1 1 1 5
83|tgmEly 1 =7 1 1 2 1 5
84|+ RNV —2 1 1
85|t —T 2 1 1 3 3 8
86|%8 - BANgels 1 2 1 2 5 11
87|EANZY2 =P 1 2 1 1 1 6
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8it| 59| 96| 77 | 76 | 126 79 | 513




